i I | )
\\\\‘ROPH 77777 —— = ————— ———
SR SNz ———— ———————— —+—— — |
SN ESe :
S
=_’0 TYPICAL PLYWOOD WALL ASSEMBLY
ﬂ ELEVATION VIEW
%

SHOWN FOR CLARITY

®

5/8" PLYWOOD SHEATHING

HENRY AR-BLOC 31MR FLUID-APPLIED AR AND WATER
BARRIER

2-1/2" WIDE x 3/16” THICK FOAM TAPE APPLIED TO
PLYWOOD SHEATHING

Q®

2" WIDE GAPS IN FOAM TAPE FOR VENTING AT 24" 0.C.
(HORIZONTAL SPACING) AND AT INTERFACES WITH VERTICAL
FOAM TAPE; VERTICAL FOAM TAPE AT EDGES AND PANEL
JOINTS TO BE CONTINUOUS

®
©

NOTE: PANELS AND EXTRUSIONS NOT

18 GA. 1-1/2" HAT CHANNELS INSTALLED AT 16" O.C.
AND 3" FROM PANEL EDGES

PECORA 896 PANEL ADHESIVE APPLIED IN 1/2” THICK
LINES ALONG FULL LENGTH OF HAT CHANNELS

METAL FLASHING FASTENED TO PLYWOOD SHEATHING

MEMBRANE OR FLUID-APPLIED AR AND WATER BARRIER TO
LAP OVER METAL FLASHING IN SHINGLE FASHION

CENTERLINE OF PANEL JOINTS

Rev_0:02/11/2015

File Name: MiamiDade LAM-DS-001

OMEGA-LITE® ACM WALL PANELS

OMEGA PANEL PRODUCTS €2

| LAMINATORS i

www.L.aminatorsinc.com 8//7.0MEGA. /7

DETAIL KEY - PLYWOOD WALL ASSEMBLY
DRY SEAL OVER PLYWOOD

NOTE: SEE LAMINATORS INSTALLATION GUIDELINES
FOR MORE INFORMATION ON ATTACHMENT PROCEDURES

Date: Drawn By: Dwg. No. Page
2/11/2015 JIM LAM-DS-001 ] 10F8




18 GA. 1-1/2" HAT CHANNELS
(BEYOND) MECHANICALLY FASTENED TO
PLYWOOD SHEATHING USING #10 X 1”

PPH SCREW FASTENERS AT 6 0.C.
ALONG HAT CHANNEL FLANGES W/ (4)
FASTENERS AT EACH END; HAT N
CHANNELS INSTALLED AT 16 0.C.

oo
XX
Potee!

O
35
XK

vv.vv.
%

XX
X
%
RS

9.9
:‘:’:"
2%

%a%a%a

R
O

X
05
o

X

%
IS
2029

5%’

5

%!
KA

%%
3%
X

,,,.,,,
SR
KKK
S

<

PECORA 896 SILICONE PANEL ADHESIVE
APPLIED ALONG FULL LENGTH OF HAT
CHANNELS IN 1/2" THICK LINES \

XX
5B
Desess
RS

<
o

ot
.Q

,,,
000
X

S9-9-9-9.¢

XK

%!
Patee!

%%
3%
X

X
89%S
5K

b

V.v
X

X

Yo%

XX
X
&%
Q’Q‘

KKK
S5
KK

K

R R IRRX
SRRXL
K

D 9a¥a

XXX

XX

5%
R

XX

<i~v\/v\/\r<j:>
2
4

R X X >
XXX
S
Pad

bo 2%

XX
RS
2000
XK

9
5%
KX
bt

l //y Z—-EXTRUSION

(AT No. 45-2)
IVLLEET]
\““1‘6" HER "% %qf\ 7 CONNECTOR EXTRUSION
e“q‘\?’.--""“‘- ¢, Z ; —— / (PART NO. 44DS-CONNECTOR)
Scs)z\ '... \ Sé\. [ w'j g i T
N b g : S PANEL INSERT STRIP
S s 208 : §
E * % ; /////—
E/'U e / e = l
2 L A v..
N IPERARNINC)
7 STON AL © <N REeS ol FOAM TAPE APPLIED TO
1 NAS W I i - PLYWOOD SHEATHING ALONG
UITTTIN L8) —% B R CENTERLINE OF PANEL JOINT;
2 MANTAIN 2* GAPS FOR
#10 X 1° PPH SCREW FASTENERS / VENTING AT 24" 0.C. AND AT
. p INTERFACES WITH VERTICAL
INSTALLED AT 6" 0.C., TYP. PR : Pre PR
PECORA 860 SILICONE PANEL ADHESIVE o
APPLIED TO PANEL ROUT PRIOR T0 % - PLYWOOD SHEATHING
BENDING TO FORM PANEL CORNER AND
APPLIED BETWEEN FORMED PANEL i ) HENRY AR-BLOCK 31MR
g : :

CORNER AND Z—-EXTRUSION, TYP.

A
<

e P FLUID-APPLIED AIR AND
/ WATER BARRIER

7
6mm OMEGA-LITE PANEL, TYP. ~
- \ #6 x 1/4" PPH SCREWS L

INSTALLED AT 6" 0.C., TYP.
NOTE: SPACING SHOWN BETWEEN PANELS

AND SUBSTRATES AND THICKNESS OF SOME

PANEL SYSTEM COMPONENTS EXAGGERATED SECTION VIEW
FOR CLARTY

Rev_0:02/11/2015

OMEGA-LITE® ACM WALL PANELS

File Name: MiamiDade LAM-DS-001

OMEGA PANEL PRODUCTS Q2 DETAIL A - TYPICAL JOINT DETAIL
DRY SEAL OVER PLYWOOD
NOTE: SEE LAMINATORS INSTALLATION GUIDELINES
. LA M l N AT 0 B s lNc FOR MORE INFORMATION ON ATTACHMENT PROCEDURES
* Date: Drawn By: Dwg. No. Page

www.L.aminatorsinc.com 8//7.0MEGA. /7 211112015 JIM LAM-DS-001 | 20F8




PARAPET WALL METAL COPING AND
BLOCKING BY OTHERS

#10 X 1" PPH SCREW FASTENERS

INSTALLED AT 6" O.C., TYP. T~~~ |

END-OF-RUN/STARTER EXTRUSION

(PART NO. 44DS—ENDRUN) ———__ |

PECORA 860 SILICONE PANEL ADHESIVE
APPLIED TO PANEL ROUT PRIOR TO
BENDING TO FORM PANEL CORNER AND
APPLIED BETWEEN FORMED PANEL
CORNER AND Z—-EXTRUSION, TYP.

FOAM TAPE APPLIED BETWEEN
OMEGA-LITE PANEL AND METAL
COPING SYSTEM. MAINTAIN 2° MIN.
GAPS FOR VENTING AT 24" 0.C.

6mm OMEGA-LITE PANEL, TYP.

PECORA 896 SILICONE PANEL ADHESIVE
APPLIED ALONG FULL LENGTH OF HAT
CHANNELS IN 1/2" THICK LINES

18 GA 1-1/2" HAT CHANNELS
MECHANICALLY FASTENED TO PLYWOOD
SHEATHING USING #10 X 1" PPH
SCREW FASTENERS AT 6" 0.C. ALONG
HAT CHANNEL FLANGES W/ (4)
FASTENERS AT EACH END; HAT
CHANNELS INSTALLED AT 16" 0.C.

File Name: MiamiDade LAM-DS-001

z

FOAM TAPE APPLIED TO
PLYWOOD SHEATHING
ALONG TOP OF WALL;

MANTAN 2 GAPS FOR
/ VENTING AT 24" 0.C.
AND AT INTERFACES WITH

VERTICAL FOAM TAPE

000000000U

AAIARARRANRARLRRANARANAY)

L

0000000000000

#6 x 1/4" PPH SCREWS
INSTALLED AT 6" 0.C., TYP.

AAAAAA
\ BB

Z—-EXTRUSION

/ (PART NO. 44DS-7)

1

- PLYWOOD SHEATHING
/ HENRY AIR-BLOCK 31MR
L FLUID-APPLIED AR AND
< / WATER BARRIER

__——""””’—"V
__——”””—””"

__——”””””—"

O
Roled:

X
b

XXX
2%
R

s

X X
KX
s

X
099
X

bl

%%
5
22

ST
$9.0.0,0.0 0’0
0a0a 9%

XK
IRRRX

%

X R
R
R

XX

>

LoR

\o%

<
XX

X
3%
%
K

%%

R
3K
el

NNTVATVAY

N

A
)
%%
XXX
X

S

S
8%

{ 7, Sy ONAL e?\\\\

’
LTHIO

/\/

SECTION VIEW

NOTE: SPACING SHOWN BETWEEN
PANELS AND SUBSTRATES AND
THICKNESS OF SOME PANEL SYSTEM
COMPONENTS EXAGGERATED FOR CLARITY

Rev_0:02/11/2015

OMEGA-LITE® ACM WALL PANELS

www.L.aminatorsinc.com

OMEGA PANEL PRODUCTS €2

| LAMINATORS i

DETAIL B - TYPICAL TOP OF WALL DETAIL
DRY SEAL OVER PLYWOOD

NOTE: SEE LAMINATORS INSTALLATION GUIDELINES
FOR MORE INFORMATION ON ATTACHMENT PROCEDURES

Date:
2/11/2015

8//.0MEGA.//

Page
3OF8

Drawn By:
JIM

Dwg. No.
LAM-DS-001




18 GA. 1-1/2" HAT CHANNELS
(BEYOND) MECHANICALLY FASTENED TO
PLYWOOD SHEATHING USING #10 X 1”

PPH SCREW FASTENERS AT 6 0.C.
ALONG HAT CHANNEL FLANGES W/ (4)
FASTENERS AT EACH END; HAT
CHANNELS INSTALLED AT 16 0.C.

PECORA 896 SILICONE PANEL ADHESIVE
APPLIED ALONG FULL LENGTH OF HAT
CHANNELS IN 1/2" THICK LINES

[ R
,'I'S/ONALe

\)
T

PECORA 860 SILICONE PANEL ADHESIVE
APPLIED TO PANEL ROUT PRIOR TO
BENDING TO FORM PANEL CORNER AND
APPLIED BETWEEN FORMED PANEL
CORNER AND Z—-EXTRUSION, TYP.

CONTINUOUS BUTYL SEALANT BETWEEN
METAL FLASHING AND GRADE

File Name: MiamiDade LAM-DS-001

2
XXX

R KKR
90%% 94%%
KRR K 4“0‘0‘ %

R
139000
ba¥%

"’i"
%

%
a

&
3K
0a%%

6mm OMEGA-LITE PANEL, TYP. \

-
000

00

%
0%

0%

&
XX

3
0
RRRRK

,,,,,
%
558K

o%

2% %% %%
0000509
:%.9.%.%,

o%

20000
XXX
$u%

X

%
b

000

KR
0"
XX

o

K

o
b

,.V.,:.
S

e

%
O

R
oo
%a%a

’0
X
bo%s

kXX
%

000

3
KK

/\/ HENRY AIR-BLOCK 31MR

FLUID-APPLIED AR AND
| / WATER BARRIER

A PLYWOOD SHEATHING
01::‘ AT o
’:f L

P Ve R
2 2
P D!

MEMBRANE OR FLUID-APPLIED
AR AND WATER BARRIER LAP

3 MAX.

\\é 1S
—

/\/ INSTALLED IN SHINGLE
/\/ FASHION
S

#6 x 1/4" PPH SCREWS /// FOAM TAPE APPLIED TO
INSTALLED AT 6" 0.C., TYP. S |~ PLYWOOD SHEATHING ALONG
] BOTTOM OF WALL; MAINTAIN

2" GAPS FOR VENTING AT
24" 0.C. AND AT INTERFACES
WITH VERTICAL FOAM TAPE

MU END-OF-RUN/STARTER
ke EXTRUSION
(PART NO. 44DS—ENDRUN)

3" LONG, 5/8° X 1/2" FOAM
TAPE AT 36 0.C. BETWEEN
PANEL INSERT STRIP AND

PRI

g

e

END-OF-RUN/STARTER
EXTRUSION

000000000
000000000
000000000
. 000000000

#10 X 1" PPH SCREW

FASTENERS INSTALLED AT

6" 0.C., TYP.

METAL FLASHING FASTENED TO
PLYWOOD SHEATHING WITH (2)
#10 X 1" PPH FASTENERS AT
12* 0C.

NOTE: SPACING SHOWN BETWEEN
PANELS AND SUBSTRATES AND

SECTION VIEW THICKNESS OF SOME PANEL SYSTEM

COMPONENTS EXAGGERATED FOR CLARITY

Rev_0:02/11/2015

OMEGA-LITE® ACM WALL PANELS

www.L.aminatorsinc.com

OMEGA PANEL PRODUCTS Q) DETAIL C - TYPICAL GRADE DETAIL

DRY SEAL OVER PLYWOOD

NOTE: SEE LAMINATORS INSTALLATION GUIDELINES
. lNc FOR MORE INFORMATION ON ATTACHMENT PROCEDURES
* Date: Dwg. No. Page

Drawn By:

8//7.0MEGA. /7 211112015 JIM LAM-DS-001 |4 0F8




CONTINUOUS VERTICAL
FOAM TAPE APPLIED TO
PLYWOOD SHEATHING

3" LONG, 5/8" X 1/2" FOAM ALONG EDGE OF WALL

TAPE AT 36" 0.C. BETWEEN
PANEL INSERT STRIP AND

END—OF—RUN/STARTER
EXTRUSION

PANEL INSERT STRIP

10 X 1° PPH SCREW
FASTENERS INSTALLED AT
6" 0.C., TYP.

e

METAL FLASHING MECHANICALLY
FASTENED TO SUBSTRATE (COORDINATE
W/ WINDOW OR ADJACENET WALL
SYSTEM INSTALLATION REQUIREMENTS)

MEMBRANE OR FLUID-APPLIED
AR AND WATER BARRIER LAP
INSTALLED IN SHINGLE
FASHION

HENRY AIR-BLOCK 31MR

FLUID-APPLIED AIR AND
WATER BARRIER

/’ PLYWOOD SHEATHING

|\
\

000000000

000000000
000000000
000000000

|

A

T \ T T 7/ / y ]
B\ = T A 2. /]
=\ = S A— =
£\ = S A = /N
E= S W =/ =

‘ N— e !

D )”VVNf)&“/v\ifVL“/VVN/J:X;;<ziVN/V;Pffﬂ\thVNA/vxﬁiifii//
::FzmcOOXOOOOOO}OOOOOOOOO&OOOOOOO

:a:NHN O Em\?OOOOOOOOOO

END-OF-RUN/STARTER EXTRUSION
(PART NO. 44DS—ENDRUN)

Z-EXTRUSION
{ILLLLAELAURATARANAARAANRAA (PART No' 44%-2)
§6 x 1/4" PPH SCREWS

INSTALLED AT 6" 0.C., TYP.
%% %%
/ BRERRRE

\ WINDOW JAMB OR 6mm OMEGA-LITE PANEL, TYP. /
DISSIMILAR MATERIAL

18 GA. 1-1/2" HAT CHANNELS
MECHANICALLY FASTENED TO PLYWOOD

PECORA 860 SILICONE PANEL ADHESIVE
APPLIED TO PANEL ROUT PRIOR TO
BENDING TO FORM PANEL CORNER AND
APPLIED BETWEEN FORMED PANEL
CORNER AND Z-EXTRUSION, TYP.

FASTENERS AT 6" 0.C. ALONG
FLANGES W/ (4) FASTENERS

PLAN SECTION VIEW

SHEATHING USING #10 X 1° PPH SCREW

HAT CHANNEL
AT EACH END;

HAT CHANNELS INSTALLED AT 16" 0.C.

PECORA 896 SILICONE PANEL ADHESIVE
APPLIED ALONG FULL LENGTH OF HAT
CHANNELS IN 1/2" THICK LINES

NOTE: SPACING SHOWN BETWEEN
PANELS AND SUBSTRATES AND
THICKNESS OF SOME PANEL SYSTEM
COMPONENTS EXAGGERATED FOR CLARITY

Rev_0:02/11/2015

File Name: MiamiDade LAM-DS-001

OMEGA-LITE® ACM WALL PANELS

OMEGA PANEL PRODUCTS Q

DETAIL D - TYPICAL END OF RUN DETAIL
DRY SEAL OVER PLYWOOD

NOTE: SEE LAMINATORS INSTALLATION GUIDELINES
FOR MORE INFORMATION ON ATTACHMENT PROCEDURES

| LAMINATORS i

www.L.aminatorsinc.com 8//7.0MEGA. /7

Date: Drawn By: Dwg. No. Page
2/11/2015 JIM LAM-DS-001 | 50F 8




1.000

0.775

0635

K}

raih s

L —DETAIL ‘A"

' REF.

1.500

0.775

OT

@)
0.070

0.060——] ~—

r=—0.497 —=

@
0.140

" 1.000

{ - ) DENOTES R .030

DETAIL “A’

(10)

=
0.110

o.osoj

0.162
SCALE 41 307.\“\
a g, K i
> .80'
\

NOTES:
1. ALL CORNERS .015 RADIUS UNLESS OTHERWISE NOTED

2. UNSPECIFIED WALL THICKNESS .050
3. NOT DRAWN TO SCALE

DETAIL "A" - ENLARGED VIEW

150°

Rev_0:02/11/2015

File Name: MiamiDade LAM-DS-001

OMEGA-LITE® ACM WALL PANELS

OMEGA PANEL PRODUCTS €2

| LAMINATORS i

www.L.aminatorsinc.com 8//7.0MEGA. /7

Z-EXTRUSION (PART NO. 44DS-2)
DRY SEAL OVER PLYWOOD

NOTE: SEE LAMINATORS INSTALLATION GUIDELINES
FOR MORE INFORMATION ON ATTACHMENT PROCEDURES

Date: Drawn By: Dwg. No. Page
211112015 JIM LAM-DS-001 | 6 OF 8




2146

0.873

PI
0185 0.250
30%\ |

013DP X 90°

PIPI

0.101

L]

025DP X 90"/

SERRATIONS

NOTES:

L

0.095P1

—

0197 U%ﬁ8

7

LSW

0,500 —=

sym

1. ALL CORNERS .015 RADIUS UNLESS OTHERWISE NOTED

2. UNSPECIFIED WALL THICKNESS .050
3. NOT DRAWN TO SCALE

File Name: MiamiDade LAM-DS-001

Rev_0:02/11/2015

OMEGA-LITE® ACM WALL PANELS

www.L.aminatorsinc.com

OMEGA PANEL PRODUCTS €2

| LAMINATORS i

8//.0MEGA.//

CONNECTOR (PART NO. 44DS-CONNECTOR)
DRY SEAL OVER PLYWOOD

NOTE: SEE LAMINATORS INSTALLATION GUIDELINES
FOR MORE INFORMATION ON ATTACHMENT PROCEDURES

Date:
2/11/2015

Drawn By:
JIM

Dwg. No
LAM-DS-001

Page
70F 8




1323

0.873

IPI
9‘0‘850 ~

O013DP X 90°
/

0250
Pl
< =—0.185
0101 \

iy

i
0247
0.095 i

B

025DP X 90°
SERRATIONS

@ 7
L/80°

0.500—=

4,
%, 7%

N 1,
Q
L]

L LLLLLTTRS

NOTES:
1. ALL CORNERS .015 RADIUS UNLESS OTHERWISE NOTED

¢

2. UNSPECIFIED WALL THICKNESS .050

3. NOT DRAWN TO SCALE
Rev_0:02/11/2015

OMEGA-LITE® ACM WALL PANELS

File Name: MiamiDade LAM-DS-001

OMEGA PANEL PRODUCTS €2

| LAMINATORS i

www.L.aminatorsinc.com 8//7.0MEGA. /7

END-OF-RUN / STARTER (PART NO. 44DS-ENDRUN)
DRY SEAL OVER PLYWOOD

NOTE: SEE LAMINATORS INSTALLATION GUIDELINES

FOR MORE INFORMATION ON ATTACHMENT PROCEDURES
Date: Drawn By: Dwg. No. Page
211112015 JIM LAM-DS-001 | 8OF 8




